3+4:3x%

il

o e




15+7=15x%

— ™

— | <f

— D~




%]
il
__i

i
oju

— |

— |

— | ©




mj
__i

Hu
ol
i
m__m

tol 71eF

)

hee A

4.

2
21
L
15

©
©

L
16
2
45

®)
®

2:{17%




5.

WeAlS she] 7]of2E 4

2 UejA e










8.

o At st Q.

6=+8=+3

|~

o

(®)
RIS

N o

®1










11.

&8 AL

85.2+4




12. o= WeAlle shA L.

62.8 +8




13. A4S By, &%
LEF Al 2

ATNA B0 2512

7
38) 266

266

0

7
38)26.6

26,6

0



14.

ol A ] Wolrt 24m? oAl ZF=7F Tm 2 A2E ¥ m
A F5HA 2.

1 2 3
@ 3- m ® 3-m

7 7



15.

AAHL A



16. & WeAls shAL.
9.27+9

>R



17. Hs WeAls shAL.
25.92 + 12

>R



18. o2 AAtstA L.
10.65 + 5

>R



19. 1044 + 36 = 29 Y& o850l Hh& LnAlS] & FohA L.
104.4 + 36

>R
c



20. o5 Ol >, =, <& IHA WAL,

31.8+6 O 728 +13




21. o5 Ol >, =, <& IHA WAL,

845 +13 (O 16.8 + 24




22,

1LY SR 2 14kmE = 582735 L Y EHE H& &
412412kmE FHEYH. 58 2 Lo SEf7} dot
TOFA L.

Aol
Yk

-

WEA



23. o FolA ol tiro] BolAA] &

® 385+25

@ 923 =8

@ 128+7

®3) 945 -9



24. A% 2km 2 ZE ARl 19km 9] 712E Zofrte o 2 A7
deleA 22 YEifA L.

B e A7



A2

S

25. heAlo] $2 wegstel 45 AA A7 7

14+6




